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This resource has been produced to support teaching and learning of

GCSE (9-1) OCR Business 2. It is made up of a variety of end-of-topic test
time-restricted questions, with suggested answers and a marking scheme.
Each topic test will cover the same level of skills and depth of knowledge as
the most difficult and longest questions in an actual GCSE examination.
This resource also provides a suggested answer structure and examination
tips, and highlights common errors made by students.

Teacher’s Introduction

Always check the exam board
website for new information,
including changes to the
specification and sample
assessment material.

Each test will:

Reduce your workload as a teacher with on-hand topic tests and answers accompanied by suggested

answer outlines

Allow you as a teacher to diagnose students’ knowledge, strengths and weaknesses after a specification topic
has been taught

Help students develop good examination technique, as it uses exam-style command words that will be used
in the actual examination

Encourage students to develop structured answers to meet the assessment objectives examined, as it
allocates marks appropriate to the assessment objective

Indicate how and why marks are awarded at each level of the higher-level questions

Raise students’ awareness of the examination’s ‘limited time’ aspect

This resource can be used as:

A very useful student revision guide, as all topics in the specification are addressed

A formal class test of 40—60 minutes duration

A multiple homework resource for students

An examination revision guide for students

A basis for an interactive teacher—student class review of a specification topic and how to approach
answering an examination question on it in a structured way

The Examination Question Guidance section focus on 10 specific areas:

Assessment objectives

Command words

Higher-level marking table for ‘Discuss’ and ‘Evaluate’ questions

Examples of the questions you will get — with answers and marking schemes
How each examination topic test question is structured

Tips for answering a question

Common mistakes made when answering a question

Important note on suggested answers

Feedback sheet

Teacher’s revision tick sheet

Important note on suggested content for answers
Please note that there may be correct answers other than those provided. Consequently, it is up to the
teacher/examiner to decide whether any alternative answers given are worthy of credit.

November 2024
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Examination Question Guidar

e

Assessment objectives

S

What they mean /
A A . . . p

An assessment objective (AO) is a target that the examiner ex»ects the candidate 2

\\
=

the content and quality of their answer: Al %

(e —

o o - .

Analyse (AO3a) = x fia . a possible consequence of a point y Yo’
the conz2## nca dcpends on. g

N Mx'jdp I % %

BTy Ui , . s
.| varuate (AO3b): consider the pros/cons of any point you ma| / %
I . . | .
justified final conclusion or recommendation based on your . 4 ///
circumstances on which it depends. i

]

o

AO2 Apply (AO2) your knowledge and understanding to the speci
Application that the question is examining and the stimulus material is p..
Simply show knowledge (AO1a) in your answer, e.g. the corra

o

/////////%

S
i
s

AO1 . . . . v/
Knowledge and question; or, for the higher-level skill questions, show your b, ////////
Understagnding understanding (AO1b) of a specific business context, i.e. bring W%

concepts into your answer, say, by way of an example. /
You should think of AOs as building blocks for the structure of your answer, linket o~
common cement of the stimulus material and linking words and phrases: f é
| |
/////////%
Finish with AO3 anaes ( )
’ {MS‘ fatjw‘;aiﬁ //’////////////////
— i S
R ¥ L i ™
Build on th= ‘e Hhuk ////
(%L1 Steatual AO2 Application e
;.ﬁ M‘ w"} : C %
i Knowledge and
Start with the base block of AO1 Eee
Understanding L
Level of skill demanded .
The increasing skill level required to satisfy each assessment objective: .
202 . A02 COPYRIGHT
Knowledge and Understanding Application 0

PROTECTED

Low level skill

<

g

o
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Command words

Meaning / AO level / mark awarded
The command word indicates the assessment objective level that is being examit

the question.

AQOs and command words: |
‘A01 AQ2 AO:B - a 5 >
Explain Calculate Anzlven o G
Identify Complete ../« 5ﬁ3m‘énd
. T ol
State Explain <) “DIscuss
1k _“;(MA»‘? - Evaluate
Multiple-¢ \uestions —
various wo, d phrases

Suggested outline for a structured answer response

Command word Answer structure
MCQs e Can examine AO1la (1 mark), AO1b (1 mark) or AO2 {1
(1 mark) e  Simply select one answer from the choice of A, B, Cor |
State e Examines AOla (1 mark).
(1 mark) e Correctly state what the question asks with one or two |
short sentence, for each statement you make.
Identify e Examines AOla/b (1 mark).
(1 mark) e Correctly identify what the question asks.
e One word, or a very short sentence should suffice for &
Complete e Examines AO1a/AO2 (2 mari’. ,@
(2 marks) e Correctly fill in all =, ‘si_igi;;wfi’w“ords/phrases/ﬂgures |
o Examinf;jj; Al {f{;;ssafk)‘\'énd AO1b (1 mark).
Explain .. L% ; “’%";ﬁapg‘ropriétely correct point. Then d?veiop ity
(Non-conj o Lo - (slanation. You might use an example to clarify your &
(2 may .+ Noreference to the ‘Text’ is needed.
e Write at least two well-developed, structured and linke
you make.
e Examines AOla (1 mark) and AO2 (1mark).
Explain ® Mal<e one appropriately corr'ect point refere;ncing the ||
(Contextual) linked 'and relevant expnlanation clearly applied to the ©|
(2 marks) to clarify your explanation.
e Correct and appropriate reference to the ‘Text’ must be
e  Write at least two well-developed, structured and linke
you make.
e Examines AO1a/A02 (2/3 marks).
Calculate e  Show formula if required. &
(2/3 marks) e Correctly calculate the aﬂsw§r “:}A how all your workin
e Ownfigure rule applies ¥ ' o =
o Clearly identifiyy m;na.»a*ifms;‘{;{}er.
e Exarir s“‘S”Z\l').;::,ﬂj{fi mark), AO2 (1 mark) and AO3a (1 ¢
3 g ::*WIw’F;s%rate knowledge/understanding by making
: ~ " answers the guestion. You might use an example to
Analy T o Apply that knowiedg'e/gnderstar:uding with direct re|
3 mark;; correctly contextualise it. You might use an examp
o Give the consequence of your applied point. Again,
to clarify.
e  Write at least three well-developed and linked sentenc:
o A fully justified and contextual “final judgement’ is NO7©
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Command word Answer structure
e Examines AO3b (3 marks)
o Make your recommendation.
Recommend o P?sitiveiyjustify it withir\ contﬁext... po.f,si'bly giving o
(3 marks) o lee'a cothfextuaI negative point explaining why the
possibly giving an example. ;

e Write at least three well-de: ' “2c and linked sentence
e Only one fully justifid ne . itéxtual ‘recommendatiol

Discuss See: Higher-lex:ar ar g -table — ‘Discuss/Evaluate’.
(7/9 marks) Note - W;_fg;wés’tl ied and contextual “final judgement’ is

Evaluats 7 =y 3her-level marking table — ‘Discuss/Evaluate’.

(7/9 m ,;.aédfé that a fully justified and contextual ‘final judgement’ |

3

Important points to note about an answer structure

Note 1

e  First, carefully read the question and make sure you know what you are bei.
command word to remind you of your answer structure.

e  Next, carefully read the Text (case study)} and underline relevant business wi
These can be referenced in your answer.

e  Then, read the Text {case study) again. Highlight information relevant to th.
in, and that adds value and depth to, your answer.

e  Next, plan your answer structure.

e  Finally, write your answer.

Note 2 |
¢ Read each question very carefully to make sure * v ‘U nswer only what v

think you are being asked.
e Also, reading the question cau“:j_*‘;w v i\r‘ygj A énsure that you structure your an

: 1 A
its command word. V"N

@#C" Discuss’ and ‘Evaluate’ questions, worth 7 or 9 marks.

o You must always clearly make direct reference to the case study at least fou:
maximum marks. Questions worth 9 marks require all five skill areas (AOla,
be addressed.

Note 4
e | would, whenever relevant, give an example to clarify a point made in my ai.

Note 5

e A question with the command word ‘Examine’, ‘Analyse’, ‘Recommend’, ‘Dis.
clear and logical flow of connecting, or linking, sentences.

e To achieve this, use words and phrases such as alternath ;eiy; because; conse.

which / this will lead to; which / this will result in }"wﬁc\@esion; and my final |
- | |

&
s
i

Ne .
Note 6 ) oo

A . Lo { Ay ’ ‘ 2
e A question with the core s i vjord ‘Discuss’ or ‘Evaluate’ needs a fully conte
o For exar "

\ir décision: In conclusion, | believe that...

@ ally justify your decision: ... because...
o  Contextually link another relevant point: Consequently...
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Higher-level marking table — for ‘Discuss’ and ‘Evaluate’ questions

Level AOla AOlb AQ2 A
9 marks 1 mark 1 mark 2 marks 2n —
e
7 marks - - 2 marks 2n ///
Make two correct Analyse | W
points 2n<! ipply the two | ////%
Ly he Text’. | you appl e
9 - ‘ e
g 1 & the Tex { /g
Strong 227 APPx1mark -
1 o g/////////////;///////////%
. T A APP x 1 mark AN x | Bl
Understanding | ||
. ) |
demonstrated A S 4
when required. | when required. .
ft
Kx 1 mark U x 1 mark P
Good / )
\ J/
%//////////////
Make one weak Limited /
e
point of of that ¢
Weak application. 77N
AN x | | /g
APP x 1 mark L N |
/////////////////%
Note: . o . % /
. a0 w g e
e  Any point made must be fully developed, tel va:....Ad contextual. It may be . e
and relevant example. e N
e [f any questionis notar; i« = .%/rt)jhgﬂiy answered, or the answer is totally -
e e ™ ! #

B

are awarded.

e

Y 3
rkiind 9-mark guestion your answer must demonstrate all fiv.
, application, analysis and evaluation.

COPYRIGHT
PROTECTED

g
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Examples test: Questions

Section A S

1. Why is the keeping of a high standard of quality so important to any busines: //////M
U A Avreputation for high quality should help it to ret.iin and maybe eveil ///@
[J B Avreputation for high quality will frighterc® Ay sompetition St &

J € Ahigh standard of quality will girean %;;w;@a}t”fhe business will be a 1 W%

..... . sy = . . .

U D Ahigh standard of quativ ff[j@g’;ﬂntee the business will have a higl o
18, e

. s e % % %

. . ) @ L ] &

2. Abusinesggeill i v aicial accounts to measure performance. What typ : f :
formu ' o ufit = turnover) x 100] measure? § !
..... ) . )

L-j A i.x.. - % /

J B Productivity ) |
€ Profitability \

. - o

D Liguidity 77N

%

s

g

.

s

3. if there is an expected average rate of return of 2.5% on a 10-year investme) s

total profit of £50,000, what was the initial amount of the investment? W%
QA £250,000 /
I B £200,000 il
3 ¢ £150,000

QD £100,000 /
| i
4. The earth has many finite resources that are quickly being consumed by us. | 7™
non-renewable finite energy resource? . 5 g /;%
O A Wave power g fj f o N
QB Solar power \ S .
; e\ = -
Q¢ Wind power WA\ Ad ™
g G, b
D Nuclear}pox{f g 44 4 ////////////
L g
5. Which these statements is true?
A W¥Tsiness economics the acronym GDP stands for good domestic i
J B Globalisation means less competition for UK businesses
L € All functional areas operating in a business work independently
J D All functional areas operating in a business work interdependently
|
¥ . L
- sz

g

o
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Section B

Text 1: Home Bakery

Agnes started up a bakery from her parents’ home kitchen two years ago after s
was very lucky because the kitchen of her town flat, which gives her personal inds
security, as she owns it outright, would be far too small for such a venture. Howe!
of her family had input to her business, and as Agnes is vz %termined, single-o
independent, she was not overly keen on that! € 1

“ . a

Redundancy is a position that Aanger 3 j;ji;gérfté“to find herself in again, not least b
that it brought with it afte.. ) j;;wdéﬁcy payment started to diminish. So, to ava
thinking of Ls@in . s boss. She has always been helped by her family —to f
order. Her products and service are of such good quality that sh

Many have suggested to Agnes that she open a small commercial bakery, especi:
colleague, Bernadette, who has expressed interest in such a business venture as ¢
herself in the not-too-distant future.

As this would be a much bigger endeavour for Agnes, she thought it best to get p
before embarking on such a venture.

Agnes’s business consultant has pointed out just how risky such a venture might |
financial and non-financial advantages and disadvantages of such a venture. On {
has focused on three areas for Agnes to consider: cash flow, profit and return on |
for each. Estimates for within the first three months of her business are:

e  The purchase of a two-unit convection commercial b= g oven costing £1,0

year life and producing a net profit of £600,c 5/ f\/ef; }f;a'&time.

-
e  (Cash flow ' W

N \fﬂ,;..;»i““(f) Month 2 (£) | Month 3 (£)

| Cashgef@vs 55,000 35,000 29,000
Cash} &éf‘““ ws 30,000 25,000 26,000
Net casn flow (5,000) 10,000 3,000
Opening balance | o (5,000) 5,000
Net cash flow (5,000) 10,000 3,000
Closing balance (5,000) 5,000 8,000

o  Total revenue and cost flows
Month 1 (£) | Month 2 (£) | Month 3 (£)

Revenue inflows 35,000 45,000 40,000
Costs outflows 45,000 30,000 35,000

Agnes knows that if she decides to start the business she will not only have to retai
expand it. She is aware that the economic climate is rathe 1. 2 and that even thou
increase in ethical and environmental awarenecs, ﬁd,‘ﬁc{\g .cluding herself — have
realises that product quality must be balzgca it pfice, customer expectation an

s

«.J" .
By il

Her business consultant 4. wr vfji;\‘\mﬂs"‘is‘éd that although Agnes would have a relati
market, heyg es L. still be impacted by globalisation. Agnes has begun t
the advice 1 ival and success is to ensure that all functional areas of the bus

operate inter%ependently.

Agnes is still considering becoming an entrepreneur despite knowing she will fac
finance, dealing with stock procurement, and negotiating the minefield of consui
However, Agnes is seeking further advice on this matter.

Topic Tests for GCSE (9~1) OCR Business — Business 2 Page 7 of 75
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10.

11.

12.

13.

14.

Identify one method a business can use of ensuring the quality of its produc
State one method of selling.
Identify two factors that would influence where a business would set up its o

State two problems that someone like Agnes would £ §vhen settingupa

s &
9 {w; . W
Identify two reasons why a businesc o firiice.
oA\ i
State two sources 7. i :’; Jwdt would not be initially available to Agnes if ¢
herbuges@l -

Explain &he |
analysis as a decision-making tool.

The business consultant also produced a cash flow forecast for Month 4 as 1

Month 1 (£) | Month 2 (€£) | Month 3 (£} | Month .

Cash inflows 25,000 35,000 29,000 33,000
Cash outflows 30,000 25,000 26,000 24,000
Net cash flow (5,000) 10,000 3,000 9,000
Opening balance 0 (5,000) 5,000 A

Net cash flow (5,000) 10,000 3,000 B
Closing balance (5,000) 5,000 8,000 C

Complete the cash flow forecast by inserting e ﬁz} f:i:t Aumeric values in ce
‘Month 4’ column. gt we

"1 of \ ,,g“‘j -
Calculate Agnes’s arow “ i fowd return if she decides to set up the bakery an
COMMEy bai \.“»s’lfcc»;sting £1,000,000 with an estimated 15-year life &
£600,Q®' its life.

Analyse one disadvantage to Agnes of becoming her own boss.

Recommend whether, at the very early stage of Agnes’s ‘kitchen home bake!
focused on maintaining a positive cash flow rather than making a profit. Give

Explain three possible sources of finance for Agnes’s proposed new ‘Home £

Discuss, with reference to Text 1, should Agnes decide to open her fully con |
whether or not she should initially operate it as a sole trader.

Evaluate, with reference to Text 1, whether or not o2 1g a commercial hot
for Agnes. 10 |

Topic Tests for GCSE (9-1) OCR Business — Business 2 Page 8 of 75
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Examples test: Answers and mark scheme

Section A
Question | Answer Mark
1. A 1]
2. C 1] ;
3. B 1] k|
4. D 1] s b ) e
5. D [1] oy
e 7
Section B
Key:
u
AP
AN = Analysis
E = Evaluation
1. Quality control. v (K = 1 mark)
2. E-commerce. ¥ (K=1mark)
3. Proximity to its market. ¥’ (K= 1 mark)
Its cost of operations. ¥ (K =1 mark)
4. Raising finance. ¥ (K= 1 mark) ;
Fully complying with the myriad of complex cov v g{m/s, v (K =1 mark]
\ {‘”; i W b
5. For its day-to-day running. ;< : g‘ij k)
To undertake a marx »;\,”:«t_"mjw,gy/a:gm. v (U =1 mark)
i g
6. Retain 113*“ Wit v ‘\(U = 1 mark)
% SRR i
Sale of assets. ¥ (U = 1 mark)
7. Break-even analysis is a financial tool that allows a business to predict and

number of units that must be produced and sold to cover all costs, i.e. to &
A business with an extensive product portfolio is not likely to use break-eve
making tool precisely because of the wide product range. Costs and reventi
that is really unrealistic and meaningless; or, a break-even analysis could &
in the range but that is too time-consuming and expensive. v' (U = 1 mark)

(Note that there is no need to reference ‘Text 1’ so there agre no marks for api

That is: Wet® L
e Makeapointfor Imark. .~ o,

e  Expand on that pointZr "1'r 5 k.
A A

e

S
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Month 1 (£) | Month 2 (£) | Month 3 (£} | Month ¢

Cash inflows 25,000 35,000 29,000 33,000 B
Cash outflows 30,000 25,000 26,000 24,000 W%
Net cash flow (5,000) 10,000 3,000 9,000 A
Opening balance 0 {(5,000) 5,000 8,000 ¥ Py //
v y é@///%

Net cash flow (5,000) 10,000@11 a AN 9,000 1 i
Closing balance (5,000) S50 0 G ] 8,000 17,000 »
. 'w' *ﬁ:; - %/
TOALY 11
That is: PR A 47 d P i

3 - . e
o P -0 é\;;,-wsr%netary value in each cell for 1 mark. (x 3) o
e

2
i

o

9.  Annual rate of return = (Average profit + Initial cost of the investment) x

T

]

o

o

= ([£600,000 + 15] + £1,000,000) x 100 = (0.4) x 100 ¥ (AP = 1 mark) Py

\\\\\
i

P
.

= 40% ¥ (AP = 1 mark) "l
That is: /
e  Correctly state the formula for 1 mark. B

e  Correctly input data into it for 1 mark.

///////////////,,////
e  Clearly show the correct answer for 1 mark.

o,
i

10. If Agnes were to become her own boss she would have t{o take all responsiv PN
enterprise she started, v (K=1mark) including cov v 1 finance, complyin % /;%
laws, employing staff, enduring the probizns :; bk p;ocwememt_. selectii %ZZZ
equipment and keeping custrorgv ‘*’ijp Jed, to mention but a few. ¥ (AP = %/// /2
put a lot of mental v :;t w Aﬁmes, as well as drastically reducing her & W
real fu@ chy i},.@\f\c business environment. v (AN =1 mark)

Thatis:

e  Make a correct point demonstrating knowledge for 1 mark.

e  Applyitto ‘Text 1’; that is, contextualise it for 1 mark.

e  Give a contextual analysis of the point made —that is, a resulting conse |

11. At the early stages in the life of Agnes’s home bakery she should be more &
positive cash flow rather than making a profit. v (E = 1 mark) This is becau
her home bakery solvent, meaning that she will be able to pay its bills whei
important when establishing a good image for a new small venture like hey COPYRIGHT
other hand, could just be on paper and a measure of success which is essen PROTECTED
of her home bakery. However, paper profit will ?of A Agnes’s home bake

o E "fé s
That is: e \\\\\\ W
e  Make aclear recomr. gj‘a’fi. ) L' mark. 59
e  Contextuallv =/ # 4. .rrécommendation by giving a valid reason whyy
alg ve | iimark.

o

 Education

aii§ justify your recommendation by giving another valid reasa!

e
the alternative for 1 mark.
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12. If Agnes were to start her own business, she might think of sourcing finane
1. Herself and her family ¥ (K =1 mark) — as she has some, albeit much ¢
still available. Agnes could supplement her own input with an interest s
they are always there to support her. ¥ (AP = 1 mark) //77
2. Agnes could apply for a bank loan. ¥ (K = 1 mark) "}l«f's would be costly ///,,
interest rates are high, as over an agreed fiiir cer A, Agnes must repgi wt &

\\

i
g

E
Wm

. . i
interest. Her mortgage-free F!a;' e d steg as collateral security. ¥

S
=

|
e (¥
Ay . . ‘ ;

3. Agnes could take 7 Jart. e ¥ (K =1 mark) This would involve shari -
woLsgmn. - v d vut, on the negative side, also sharing profits. He 7
ar 2 to such a suggestion as she fears that her time with her cuii | %
ena® (AP = 1 mark) //

]

{Note that there must be contextualisation; that is, reference ‘Text 1’ so thoi | S

//////%
be awarded.) /
W,

That is: //////////

R
e  Make a correct point for 1 mark. (x 3) /
»//4/ s

e  Expand on that point, with application to ‘Text 1, for a further 1 mark. | L

13. On the positive side, starting as a sole trader would give Agnes total conti //// %
business ¥ (AP = 1 mark) and so be in keeping with her characteristic traits N /7
determination and single-mindedness. She could initially set up the bakery Pan®

. | | 4
profits to herself. v' (AN = 1 mark) N % J
\ {W’g f /’.w . %/////

However, on the other hand, beinesis  trusdr from the get-go would va T
. 3 e %/ I

for some aspects of her ks teés o Littwhich she has no control. If she were s
oL s R ////

need to begrepai! v j In.erest, the rate of which she has no control over, e

PR vess paying more in interest when the bank rate rises. ¥ {
et g
ié\}c‘&‘t*“

Finally, in conclusion, | think that a sole trader should be Agnes’s initial bus

result

allow Agnes time to set up the business in ‘her image’, with her rules and
it as ‘her business’. ¥ (E =1 mark) Also, it would then be easier for Agnes t¢

Bernadette, if she needed extra finance or to share the burden of entrepre

That is:
e  Make two correct contextual points for application to the ‘Home Bakery

legal format for 2 marks. COPYRIGHT
e  Analyse both points for 2 marks. PROTECTED

e Come to one single and fully justified contextual conclusion for 3 mark:
|

g

o

 Education
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14. Being an independent entrepreneur ¥ (K =1 mark) has its own advantages

Agnes it appears to be a means of controlling her own desting and this is ¢

A benefit to Agnes is that she will be her own boss in her own home bakei:
determined, single-minded and independent does not easily afford Agnes
a boss, and now she wouldn’t have to. Also, Agnes will sever be subject to «

previously was, and this will no longer be a ) ikff}ch.«l negative, as it ag|

On the downside, being an indzo i de o jeatrepreneur is not only a 24/7,
commitment, but an = ) - {ﬁj cisky venture. Her business consultant has |
il & w,,w/eﬁf\" (AP =1 mark) If Agnes started her business,

of security. ¥ (AN = 1 mark)

Overall, | think that it would not be too much of an endeavour for Agnes ¢
home bakery, ¥ (E = 1 mark) as she has the characteristics of an entreprens
single-mindedness, confidence and independence. ¥' (E = 1 mark) In additiol
market, a good reputation, a sound cash flow forecast, steady revenue ince
support of her family. v (E = 1 mark)

That is:

e  Demonstrate knowledge of what Agnes is aiming to become for 1 mark.
Demonstrate contextual understanding of that busizess term for 1 mark
Make two correct contextual points for an?"f;\ Ln f;aat would impact A
Analyse both points for 2 marks. 0 A

Come to one single and ;"f;] /st i _a-conclusion for 3 marks.

e . e
T - 4
j”‘
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How each examination topic test question is structured

Section A will have:
e 10-15 multiple-choice guestions requiring an answer 1o a command phrase.

Section B will have:
e A ‘Text’' (ashort case study). i

e Anumber of short, medium and longer-answer q.¢. }hsf‘gequiring answers |
Identify, State, Calculate, Complete, Exginiy, . %J«,{! Recommend, Discuss ar

5 | 3 .
- -

e\ P
The duration of each topir;":;; . ﬁw:gaﬂﬁ or 60 minutes and all questions must be
A 4~

sl

e Read tI\g§##5tion thoroughly and highlight its command word and any speci

e  Carefully read the case study (Text stimulus material) and highlight business |
scenarios it contains.

e  Carefully read the question to get a clear understanding of what it is asking
asked — be specific and do not waffle!

e  Mentally (think about) and/or physically {(make bullet points on a spare shee!
reference to the question’s command word, assessment objective(s) and th.

e Always answer the guestions using appropriate business vocabulary.

e  Always apply your business knowledge by giving a relevant contextual exam,
appropriate reference to relevant material in the stimulus case study scenai|

e If the answer requires calculations to be made, you must show all your work
answer stands out clearly and distinctly.

e  Use a black ink pen to write your answer. ;

e Ifrequired to draw a diagram, graph or chart, use =« *ya.fbt edge then carefl
constituent parts in black. A rough outlinc stisule =/ wrst practised on a sepa

e Do not write or doodle in the m== f S y.uranswer page.

®  Your handwriting and an« t““bf;njumé{tion must be clear, logical and legible.
present, the exaniag ! gffjmvbé able to read and understand. You will do you!

e} “time trying to decipher your answer.

e Memoi{gg@#mathematical formulae required by the examination specificati

s  Avoid anfrepetitim in your answer, including not repeating the question its:

o Do not leave any multiple-choice question unanswered — even if it is a wild §

0

Common mistakes made when answering a question

e Anincorrectly structured answer that does not correctly correspond to the ¢
assessment objective(s) being assessed.

Writing too much for a short-answer question worth 1-2 marks.

Writing too little for a medium-to-long-answer question worth 3-9 marks.
Not applying the answer to the question or the Text (case study) stimulus mo
Not knowing formulae needed for calculation questions.

Not completing the entire question in the allotted time,

Not reading the question properly and consec s . i "{ﬁs :Jering a question y.

the one that has actually been asked! 4 S

e
=
O
End
£
=,
fmd
=
[ao]
5
=l
[0}
Y]
"1
ks
-
(o]
ke
D
=
<
]
o
v
=
i 2y
‘%’V"
;@ i
5
2
D
o
1%
[}
=
—+
D
=
o
D
»
il
(o]
.
(o]
=
3
W
3
D
Y]
=h
7

e Not having a clear brau L~ 'zzirone paragraph and another.
o Notgivize@-o i 1= iy specific answer to a question that requires such.

Important n\@#®9n suggested content for answers
Please note that there may be correct answers other than those provided. Conseq

teacher/examiner to decide whether any alternative answers given are worthy o} |
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Feedback sheet

Question: AO1la AO1b AO2 AO3a
Marks allocated
Your mark awarded g
V)
- - - -
Answer ref. . «m{ 2
(line/paragraph/page) cdm v entwell
paragrapn/pag - mf;: !
N -
S
G
|
70 4.
N o b T .
" ff’ wg““j
217
‘\!\.J”" :
/
a &
|
e |
ol 4
i »‘.9. . »ﬁi il i
i ¥ 1 ; N\N"
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Test 1: Production processes & Quality of goods and

Section A

10.

The factors of production are land, labour, capital and what?

A Money W€ Ingenuity

U B Enterprise , 7" «L. Insurance
ad”

Baking a unique wedding cake iz ;ﬁ);(j; e o?’;/
O A Mass productics . C >©

Y s
leasy preate v -
B "

L € Batch productic
L D Job production

s

Which wﬁ_;«» of manufacture creates large numbers of identical products®
‘low production Q € Job production
(4 B Batch production Ll D Cell production

Which of the following best defines the word automation?

L A Aproduction system that relies totally on artificial intelligence to full
d B A production system that never breaks down

L € Asystem capable of operating without constant human intervention
L D Asystem that can always operate without any human intervention w

Batch production is:

LI A The preferred manufacturing method for special one-off single uniq.
L B Manufacturing similar units of a product individually at different tim:
W € Manufacturing relatively small groups of similar “/ems at the same tit
LI D The preferred manufacturing methodfftg-‘ e \ s, ale motor car manu

Which of these is most likely Tn;,‘ / fgg _L.ggest impact on production proce

U A The concept of by Covens ™ (1 € Changingincom:
QB Changes: ’g;f} reer law O D Developments in
Which e is the most appropriate definition of the quality of a product

L A The extent to which it meets supplier expectations
Ll B The extent to which it meets customer expectations
L € It does not have a built-in obsolescence time frame
L D Itis better than what competitors have to offer

Which of these statements about product quality is true?

LJ A Consumers care about product quality

L1 B Quality control checking never ensures product quality

[ € Product quality is never achievable

[ D Product quality is achieved using inferior raw material input
Which one of the following statements is not true? 7 |

(d A Abusiness should at least maintain e . 535}&& at quality for its produg
(d B Quality control and qualii";v ‘e :Ee wwolve exactly the same proce!
L € Abusiness should ;i'fm{/.’a \«pt to improve the quality of its produ
0 D Quality contes a “fuity assurance do not involve exactly the sam

Why is@@rtéﬁt to maintain a good standard of quality in a business?
L A Ghsure that it has a high rate of labour turnover

L € To maintain its reputation
LI D Tosave it time and money on improving quality

Topic Tests for GCSE (9-1) OCR Business — Business 2 Page 15 of 75
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Section B

Text 1: Cover-up Limited
Cover-up Limited produces plastic screen covers for notebook computers for scie
15”. They also make, using their somewhat ‘dated’ production processes, screen
existing mobile smartphones, the designs of which are rapidl\% changing. Cover-u
industrial estate located in an area of high unemployr-ar ¢ Eﬁthis reason, it was
grant aid. Its products are fairly highly priced hec tsc = < screen is manufacture
from a hard plastic anti-glare materia!.. .~ watf
o P L1
Cover-up Limited emrnin f@&peﬁjenced, skilled and content people, including
Ha "':Jpée"t'ﬁﬂe responsibility of a team of six, and the mobile smai
inistration team of four. Donald himself is in overall *hands-6
ean, but some human error causes some preventable waste inpi

e
-

process is fairty |

The company has been operating for just over 10 years and has retained the sam
However, it has never upgraded its computer system, its production equipment ¢
Donald believes this to be a drawback to improving the overall productivity of the
change the current set-up from the start of the next trading year by:
e  Upgrading the company’s entire computer network.
e Upgrading and streamlining the entire production process.
e Installing a new state-of-the-art integrated computer-aided design / comput
(CAD/CAM) system.
e Changing the company’s raw material input to the more expensive ‘wonder |
durable, flexible and lightweight material.
|
Donald, the sole shareholder in the company, rea';;; ;‘tyfﬁsu;}h a radical ‘facelift.
both risks and rewards. 7

&

B . j w

T OA N
11. ldentify two technq’ gl Al ‘Jts'that have influenced the production procy

12.
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13. ldentify three production processes.
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p
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15. Explain three reasons why quality is 2n <~ 10 *2 a°concept to all businesses. g—
’ g
%
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16. Analyse two methods a business can use to ensure the quality of its output.
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17. Discuss, with reference to Text 1, positive and negative impacts that the inti

could have on Donald’s business. Vo
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Test 1: Production processes & Quality of goods and

Section A

10.

The factors of production are land, labour, capital and what?
A Money C lugenuity
B Enterprise , 7 7 lisurance

{M s
Baking a unique wedding cake iz ?);(jja b o??/

A Mass production ) 2 ":g, C Batch production
B Flow peadustis M“‘ D Job production
a
Which e of manufacture creates large numbers of identical products®
A Flow production C Job production
B Batch production D Cell production

Which of the following best defines the word automation?

A A production system that relies totally on artificial intelligence to fully fur
B A production system that never breaks down

C A system capable of operating without constant human intervention

D A system that can always operate without any human intervention what.

Batch production is:

A The preferred manufacturing method for special one-off single unique ite
B Manufacturing similar units of a product individually at different times

C Manufacturing relatively small groups of similar item< at the same time

D The preferred manufacturing method for I;jg Fon e \ otor car manufactt

Which of these is most likely Tn;,‘ / fE} _L.ggest impact on production proce

A The concept of bref';; = g{ﬁ Lo C Changing income of ¢
B Changegto 72 ’yl’fjg low D Developments in artif

W
-

Which e is the most appropriate definition of the quality of a product
A The extent to which it meets supplier expectations

B The extent to which it meets customer expectations

C It does not have a built-in obsolescence time frame

D Itis better than what competitors have to offer

Which of these statements about product quality is true?

A Consumers care about product quality

B Quality control checking never ensures product quality

C Product quality is never achievable

D Product quality is achieved using inferior raw material input
Which one of the following statements is not true? 7 |

A A business should at least maintain a con? s At y,gx;alitv for its product or |
B Quality control and quality assiirye . t}&/ow\e’“'e}?éctly the same processes
C A business should alwa;s st w20 Tmprove the quality of its product ot
D Quality control 7.4 A “ji},nuﬁs"ijraﬂce do not involve exactly the same pro
’;rt‘é‘f?twt‘:o maintain a good standard of quality in a business?
A To e’#7e that it has a high rate of labour turnover

B To keep its workforce happy

C To maintain its reputation

D To save it time and money on improving quality
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Section B

Text 1: Cover-up Limited m——
Cover-up Limited produces plastic screen covers for notebook computers for scie W%
15”. They also make, using their somewhat ‘dated’ production processes, screen ¢ /
. . . . . . poo
existing mobile smartphones, the designs of which are rapadlvf changing. Cover-i ¢
industrial estate located in an area of high unemployr‘*ékz r Eﬁthis reason, it was Q/%
grant aid. Its products are fairly highly priced hec Usc =t screen is manufacture e
. . . ' [ I
from a hard plastic anti-glare material. e w (W
P {ww N‘ P—

e
oo
fo

Cover-up Limited emnin f&ipe?‘fegced, skilled and content people, including
Ha "':Jpée"f'ffé responsibility of a team of six, and the mobile smai
Yministration team of four. Donald himself is in overall *hands-6
ean, but some human error causes some preventable waste in pt

iy,

2
i

p—
\\\\\\\\\\\\\\\

process is fairiy

]

o

o

The company has been operating for just over 10 years and has retained the sanm .
However, it has never upgraded its computer system, its production equipment ¢ 7N
Donald believes this to be a drawback to improving the overall productivity of the J
change the current set-up from the start of the next trading year by: -
e  Upgrading the company’s entire computer network. /
e Upgrading and streamlining the entire production process.  —
e Installing a new state-of-the-art integrated computer-aided design / comput

2
i

s
P

o

(CAD/CAM) system. N\
| | |
e  Changing the company’s raw material input to the more expensive ‘wondet | % ///
durable, flexible and lightweight material. N
Donald, the sole shareholder in the company, rea'{;:g g‘mj; :"éueh a radical ‘facelift /////////
both risks and rewards. 2 T wg—
i f“"’f’ 1 . Mj > %’”///////%
11. Identify two techno' g~ ) vﬁ:‘\,f,,ﬁs“tﬁat have influenced the production proce 7
o 1 »
12, Explair@ieiis meant by the production process.
=
13. lIdentify three production processes.
14. Explain one positive and one negative impact that technology has had on the
a whole.
15. Explain three reasons why quality is an important concept to all businesses.
16. Analyse two methods a business can use to ensure the quality of its output. COPYRIGHT
17. Discuss, with reference to Text 1, positive and negative impacts that the inti PROTECTED
could have on Donald’s business. ]
o\ 4 :
- Wi Jg
m.v"‘"; -
Wa' . B
f.i' 3 »yg s

g
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Preview of Questions Ends Here

This is a limited inspection copy. Sample of questions ends here to avoid students previewing
questions before they are set. See contents page for details of the rest of the resource.



Answers

Test 1: Production processes & Quality of goods and services (2.4.1-2.4.2

Section A
1. B [11 ] 6. D [1] ;
2. D 17 B [1] ~8
3. A [1] | 8. A U ja & />
4. c (11 ]o. NE
3 C . D27 ]
v 44
: -
Section B @&t . ST
11. e Dt n?s in robotics ® Use of computers in CAD/C.
® Incredsing advancements and uses in Al ¢  The use of automation

12. The production process is the tangible physical production of goods a business can o
production at its disposal {land, labour, capital and enterprise) in a given period of 1.
input of raw materials to a transformation process which results in the output of a 1

13. e  Job production
® Batch production

® Flow production

14. Positive impacts:

® Increased production output ® Better-quality output
® Reduced costs over time ® Reduction in the workforce
]
Negative impacts: vy 5
® Initial capital outlay ‘o 'M;,,e‘ixman casualties — increast.
® Specialist training costs s f”’f Human casualties — deskilling
s i B ;,; sz -
15. Quality is an importas| ».?oé\ ﬁ; rdffar;sy business because it helps to:
o In Ul isatisfaction e Increase sales
® crébge its reputation ® Reduce all types of business
® Rec®lc costs ® Reduce or eliminate its leve
® Retain and increase its customer base ® Satisfy customer expectaticn

16. To achieve effective quality maintenance, a business could use:
e  Atraditional system of quality control such as sample batch checking by inspe.
the end of its production run or at each stage of the production process.
e  The more modern approach of quality assurance, involving all aspects of busin:
culture of total quality management (TQM), employing techniques such as bern:
control, quality circles, quality chains and enforcing a zero-defects policy.

17. Positive impacts:
® It should increase Cover-up Limited’s products from a high-quality standard to ¢
® It should reduce Cover-up Limited’s production wast~.: ¢ n even lower level an

-~

® It should improve the overall productivity of G - :jiimv’ted.
e  The same workforce has been therg silin thig

to react quickly enough to 7 4 & E”ir:jh.‘;Eas;’t—changing market with the help of o

™ ¢ -
o' ) Caw

pggactity L ¥
.es. L.itrie majority of Cover-up Limited’s experienced and skilled work
o result in redundancies and so increase unemployment in an area é

Negative i

o

not make Cover-up Limited a popular business.

i

]
L

® Cover-up Limited has a content workforce. Introducing new technology could
°® It would cost time and money to retrain a workforce that is ‘set in its ways’.

a

-

i
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Preview of Answers Ends Here

This is a limited inspection copy. Sample of answers ends here to stop students looking up answers to
their assessments. See contents page for details of the rest of the resource.



